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) B2 K R K R K R K RKfid Kk Rz K KB K KE K R K K K XK K K

R B B 2A8H 2H8H 2H8H 2H8H 2A8H 2H15H 2H15H 2H15H 2H15H 2H15H 2H15H
i@ °C 3.0 7.0 9.0 10.0 7.0 7.0 9.0 7.0 9.0 40 3.0
KR °C 5.5 7.0 8.0 9.0 6.0 8.0 8.0 6.0 6.0 6.5 5.5
— R HE 100f8/mILL T 0 0 0 0 0 0 0 0 0 0 0
KBE mshance R [(=4k3 (=4 [=4k3 [=4k3 [E4k3 =K1 [E4k3 [(=4k3 P =K1
EiemAA4 200meg/LEL T 3.9 9.3 7.3 7.0 35 8.7 9.1 3.0 4.1 34 40
HREY(TOC) 3me/LELF 0.3 0.2 0.2 0.2 0.3 0.2 0.2 0.3 0.3 0.2 0.2
pHIE 58 E86LU T 7.04 7.02 7.07 7.01 7.34 6.75 6.60 6.75 7.07 6.63 6.38
173 g2xcrunce BEELGL  BELGL EBEEAGL EEBELGL BELGL . EBEELGL . EBEEAL 0 EBEEAgL . BEEGL 0 EBEEGL . BEGL
ER g2xcsrunce BEELGL BELGL EEAGL EEBELGL BELGL . EBEELgL . EBEEAL 0 EBEEAgL . BEELGL 0 EBEEGL . BEEGL
®E SELLT 15K 5 1R 1R 1R 1R 1R 1R 1R 1R B 1Rt
BE 2ELLT 01K# 01K 01K 01XKi#E 01K 0.1k i 0.1k i 0.1k 0.1k ik 0.1k 0.1K 5
WEt R R B4 mg/L 0.50 0.60 0.50 0.40 0.40 0.50 0.50 0.50 0.50 0.40 0.30
NEYALIEEY 0.02mg/LELT 0.002K# = 0.002FKj# 0002k  0.002FK;E = 0002k = 0.002%KH
TSR UGS T 001%HE 0.001K# = 0001k 0001k 0001k 0001k 0.001KH
i 7 0.6LLTF 006K = 006K 006K 006K 006K 006K
wAnlnliiTi 002 0.002K# = 0.002FK# = 0.002FK# = 0002FK#  0.002FKH = 0.002FKH
wislsl SN 0.06LL T 0.001K# = 0001k 0001k 0001k 0001k 0.001KH
CHOOREEE 0.03LLF 0.003kKj# = 0.003kKj# 0003k 0.003kK;% 0.003FKE 0.003%KH
oJOF 00492 01T 0.001Ki# | 0.001Kj#E @ 0.001kKiH 0.005 0.001Ki# | 0.001KH
B 001 T 0.001Kj# 0001k 0001k 0001k 0001k 0.001KH
BRYANOAR 01T 0.001Ki# | 0.001Kj#E @ 0.001%kKiH 0.007 0.001Ki# | 0.001KH
k4 OOEEES 0.03LLTF 0.0035Kj# 0.0035KiE 0.003KiE 0003KiE 0.003KiE 0.003KH
JOEToH/O00A2Y 0.03LLTF 0.0013K# = 0.001KjE  0.001kKiH 0.002 0.001K& @ 0.001FK&H
JOEHRILL 0.09LL T 0.001Kj# = 0001k 0001k 0001k 0001k 0.001KH
HRILLTILTER 0.08LLF 0.0085Ki# | 0.008%ki#%  0.008%K#% 0.008>kj#% = 0.008kKjEH & 0.008FK &
TILE=DLRUVZDILEY 02meg/LLLT K& L&Al H &) HE&E] 0.02K % HRE A




